
Respostas da Lista 04
1) a. 6 µs; b. 166,67 kHz, Vef=14,14V e Ief=8,84A; c. 60º.
2) a. Vpp = 100 mA; Vef = 35,36 mA; b. T = 4 ms; f = 250 Hz; c. 
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3) a. Vef = 28,28 V; b. f = 1 Hz, T = 1 s; c. v(5 ms) = –18,9 V.

4) 
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5) ICC = Ief = 35,36 A .

6) i(t) = – 0,12 A .

7) a. 
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; b. 
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8) Z = 44,72 (; L = 106 mH; ( = 63,43º; v = 20 ( 0º V; i = 0,45 ( -63,43º A.
9) f = 238,73 Hz.
10) vR = 95,26 V; vC = 55 V; Z = 22 ( -30º (.
11) Z = 1,2 k(; XC = 936,75 (; C = 2,83 (F.
12) Respostas na forma polar:
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13) Respostas na forma cartesiana:
	a) 
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14) 
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15) a. T = 0,01 s; ( = 200.( rad/s; b. 
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16) 
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18) a. vL = 58,52 ( 102,86º V; b. i = 0,93 ( 12,86º A; c. Diagrama fasorial.

19) v = 79,06 V; Z = 158,11 (; ( = 71,56º; f = 53,05 Hz.
20) R = 2 k(; L = 183,3 mH.
21) iR = 2,65 mA; v = 26,46 V; ( = 48,59º; C = 300,77 nF.
22) (a) 200 W        (b) 125 VAr (cap.)           (c) 235,5 VA        (d) 0,85 adiantada.

23) (a) 124 W      (b) 28,2 VAr (ind.)        (c) 127 VA          (d) 0,97 atrasada.
24) 640 VAr
25) (a) 1261 kVAr      (b) 1690 kVA
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